
B11--50

SELECTION/DIMENSIONS

Sleeve Bearings—BRONZOIL

1/2″ THRU 1-1/4″ BRONZOIL PILLOW BLOCKS

FOR COLLAR

BEARING SURFACE

CH

A

RS

D

B

M

J

G

RUBBER GROMMET

F

STYLE A

RUBBER GROMMET
FLAT WASHER
(OPTIONAL)

F

(OPTIONAL)

H

A

D

B

BD

H

AB

D

D B

FLAT WASHER
RUBBER GROMMETF

STYLE B

1/2″ THRU 1-1/4″ BRONZOIL FOUR BOLT FLANGE BEARING

HOW TO ORDER/
NOMENCLATURE

PAGE B11--4

FEATURES/BENEFITS
PAGE B11--2

SELECTION
PAGE B11--13



B11--51

SELECTION/DIMENSIONS

Sleeve Bearings—BRONZOIL

1/2″ THRU 1-1/4″ BRONZOIL PILLOW BLOCKS

Shaft
Size

Part
No. Description Wt. A B C D

1/2
5/8
3/4

035025
035026
035027

P2B-BO-008
P2B-BO-010
P2B-BO-012

0.6 1-1/8 4 1-3/16 3

7/8
15/16
1

035028
035029
035030

P2B-BO-014
P2B-BO-015
P2B-BO-100

0.5 1-1/8 4 1-3/16 3

1-3/16 035107 P2B-BO-103 1.3 1-3/4 4-1/2 1-1/4 3-1/2
1-1/4 035108 P2B-BO-104 1.2 1-3/4 4-1/2 1-1/4 3-1/2

Shaft
Size

F
Bolt G H J M R S

1/2
5/8
3/4

3/8 9/16 5/32 2- 5/16 1-1/16 1/2 5/8

7/8
15/16
1

3/8 9/16 5/32 2-5/16 1-1/16 1/2 5/8

1-3/16 3/8 9/16 5/32 2-13/16 1-5/16 7/8 7/8
1-1/4 3/8 9/16 5/32 2-13/16 1-5/16 27/32 29/32

Grommets are optional and furnished on order only. Order (2) grommet long nipples (part numher 035082) for each pillow block.
When grommets are used, the J and M dimensions increase by 1/16″ and the H dimension by 1/8″. A 5/16″ bolt and a washer must
be used with each qrommet. Washer part number 035084.

1/2″ THRU 1-1/4″ BRONZOIL FOUR BOLT FLANGE BEARING

Shaft
Size

Part
No. Description Wt. A B

1/2 035031 F4B-BO-008
5/8 035032 F4B-BO-010 .6 1-1/4 4
3/4 035033 F4B-BO-012

.6 1 1/4 4

7/8 035034 F4B-BO-014
15/16 035035 F4B-BO-013 .5 1-1/4 4
1 035036 F4B-BO-100

.5 1 1/4 4

1-3/16 035116 F4B-BO-103 1.3 1-7/8 3-5/8
1-1/4 035117 F4B-BO-104 1.2 1-29/32 3-5/8

Shaft
Size D F

Bolt H STYLE

1/2
3/8 3-1/8 3/8 5/32 B
3/4

3 1/8 3/8 5/32 B

7/8
15/16 3-1/8 3/8 5/32 B
1

3 1/8 3/8 5/32 B

1-3/16 2-3/4 3/8 1/16 A
1-1/4 2-3/4 3/8 1/16 A

Grommets are optional and furnished on order only. Order (4) grommet long short (part number 035083) for each flange bearing.
When grommets are used, the A dimension increases by 1/16″ and the H dimension by 1/8″. A 5/16″ bolt and a washer must be
used with each grommet. Washer part number 035084.

HOW TO ORDER/
NOMENCLATURE

PAGE B11--4

FEATURES/BENEFITS
PAGE B11--2

SELECTION
PAGE B11--13


